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WESES 40,672 2 [E 37,028 £F 67,854 2[F 4587 2 EF 9,342 2[F 4,297 2 EF 8,800 £[F 538 £E 1,106
1 WLURsH 52,070| lLFz 48314 FEtH 79,079 H&H&™H 8,994 H &/ 23,657 ;E¥ATH 5,615 ;E¥ATH 14,082 EUTH 1,176 ELLUTH 2,303
2| FETh 50,969 | F I 46,519 it 78,671 KEm 8,742 R¥fh 18,364\ K TH 5,384 | B8R 12,607 tHERETH 820 tHE[R ™ 2,009
3 RHEARXEB 46,618 FAHETH 43,024 Lz TH 78,530 B [E 7,841 | lLufizTh 16,806 Friath 5,361 | F0FxILTH 11,594 | ILFzTH 745 | lUfs 1,483
AT 46,463 E&™H 42 878 | BT 77,284 i HETH 6,941 | BERE ™ 16,549 F&#R = T 5,343|:& M 11,574/ &R 736 |1 E™ 1,408
5 @A™ 46,044 R ARX &R 41,725 F&F™ 76,737 RiItET 6,477 FHTH 16,505 5,272\ ¥AUTH 11,552 | 4K 7128| FHENE T 1,390
6| K¥Fmh 45,478 #FhiEtH 41330 R 76,245 | IUfiz T 6,265 @ 5T 13,247 | %[ h 5142 RI&TH 11,397 & 704| &R 1,374
7| AIHE™ 45292 R¥h 41,254 HHIEERES 75,670 t2 &t 6,238 | BiItE ™ 12,987 f&8FHH 5,120 3% H 11,177 FEH 701 B EHEH 1,365
8 FaRE ™ 45027 F&#EH 41,242 KB 75,634 it 5,645 ¥t 12,160 B FFH 5114 #FiBH 11,124 F#ETH 700| FEH 1,346
9 fRIEIR 44,930 BIHET™H 40,793 #ALUTH 74,878 FE 5612| FEmH 11,039 F0Fr L 4,954\ Ko th 10,680 AR ERTH 669 {lE ™ 1,324
10|38 44583 KA TH 40,695/ 3R H 74,602 &R TH 5293 & 10,985 B AL X &R 4808/ {EET™ 10,507 | 3R 52 AR X &B 653 | B IR AR X & 1,300
1148EmH 44,478 BE[ETH 40,689 | FR&RTH 74,420 FEFETH 5,235 #F T 10,737|#ETH 4764 =&TH 10,162 f#FTH 646 #ITH 1,296
12|&W0M=FH 44221 fHIERT 40,352 | FHE 74,242 )KETH 5227 F&#E™ 10,621 | #L1RH 4,703 S¥ATH 9,886 EEnH 630 T 1,286
13| &R T 44,094 iETH 39,926 |HIHE™ 73,988 fHF ™ 5091 =R 10,162 RI#E™H 4,691 AFFTH 9,866 J11I&TH 613/ =R 1,276
14|KEtH 43,981 &R 39,908 #AHT™ 73,644 ELUTH 5057/ E1UTH 10,145 & H 4683|KF T 9,553 Frimmh 610 ARZERTH 1,255
15{Ll&EH 43830 =B 39,790 fEETH 73,460 =Bt 4,962 #LiRH 10,034 &R 4,653 L& 9,519 &L V-FTh 609 S TH 1,249
16 BT 43,764 ELV=FTH 39,674 BT 73,394 #:I 4,909 B HET 9,746 ¥ IUTH 4,590| Lz 9,403 ¥\ Ith 608| EER ™ 1,244
17/&=BH 43,759 ELUtH 39,409 f#F T 73,381 #B4&E R th 4,878 AR 9,730 ¥ ;ETH 4,530 FE = 9,161 A HE™ 605 | BIfE™ 1,210
18| &R 43,725 ¥ ETh 39,138|fllET 72,840 #L1ETH 4,870/ ¥\ Ih 9,680 & %0th 4513 R R AR X &R 9,074 | BT 600 Frimmh 1,207
19 B fF™H 42851 2 E™H 39,082 |;E¥ATH 72,406 ll&E ™™ 4868/ lLAOT 9,584 | V=F T 4508 =LV =FH 9,043/t il 587 KZEm 1,195
20 )11 thH 42839 EHfFTH 39,005 ;& th 72,313 KiEm 4811 KEMH 9,575 I B th 4,507 f&8FH 9,038 /kKFTh 577\ &LV =FTH 1,183
21|%€R™ 42 584 | 1| I&tH 38,963 | FNFx L™ 72,285 £iRth 4776;&™ 9,569 Kyoth 4438l BBy 8976 =R 566 /KFE ™ 1,178
22 B ET 42576 &Rt 38,674 | &% H 71,948 2™ 4,750 FEHE[E T 9417 ERt 4,418/ b th 8,916 =th 557 )11 1,177
23 AT 42114 EETH 38,608 | Ri&F™ 71,335 Rl&H 4,694 |l BTh 9,388 | BX[@mh 4413 B HET 8,892 FkAETH 536 ;E#ATH 1,162
24|iFmH 41,896 fHETH 38,039 /KT 70,866 | LLO T 4648 S¥ATH 9,283 FETH 4,390 BEARTH 8872 f2ETh 535| B[ 1,137
25 B 41577 & 37580 & HE™ 70,743 I B 4558/ Kt 9,272 | lLUfizTh 4,368 A0 8,823 &R 532|[LET™ 1,100
26 iRt 40,651 3Rt 37,148|SLV=F T 69,031;&m 4547|fEE™H 8,982 A HET™ 4,365 B [@mH 8,773| KiEm 530 &R 1,097
27 EMATH 40,584 &% 36,774|t2 &M 68,902 ZFHE™ 4,509 ;E¥ATH 8,912 &R 4,334| RERTH 8,692 HFFTH 525 B 1,079
28 FRETH 40,576 ;EHATH 36,748 | & fath 68,851 | fE&Th 4,489 R R AR X &R 8,894 & mh 4211 ERET™ 8,519 HItE™ 498 A ET™H 1,058
29 | #LiE 40,194 fEE&Th 36,674 | ALIRTH 68,764 | IR R X &F 4,462 &R 8,819 ELLUTH 4215 ALIRTH 8,478 fEETH 498 At AT 1,032
30 EET 40,140 L% TH 36,541 I BT 68,462 | =fAThH 4,428 EIgTH 8,763 =ATh 4,181 #Ih 8,450 [LE&Th 478 $8ETH 966
31| BT 39,806 | #A LT 36,489 | KRRt 68,299 | = W& 4,357 & ETH 8,552 K;Eth 41704EH 8,438 | ALIRTH 477 FFT 965
32| KBrh 39,600 KprtH 36,420 ELUTH 68,151 &% 4321 | RI&™H 8,544 JII&TH 4,165 FKETH 8,370 H & 475 KB 952
33 K;ETH 39,461 =#th 36,295 R fF 67,875 BB RE™ 4,295 | &R 8,542 tHETH 4,106 BB 8,350 fA LT 474 FATH 934
34 ¥AUTh 39,455 IF B TH 36,282 | IR AR X &f 67,829 BT 4,263 EERET™ 8,357 {2 E&Th 4076 =BT 8,341 KBRtH 462 FFx LT 907
35 & 39,410\ ¥ 36,125 #&EH 67,464 1R H 4,217 BB 8,312 ARE;™H 4,038 EERTH 8,333 FNFxrUth 460 | If B 903
36| MiITh 39,199 =& 35,833| &R 67,166 |1 EmH 4,181 |[ET 8,271 E¥h 4,003 € R 8,265 3R 446 |[FLUH 893
37| Wth 39,050| & LT 35,813| =™ 67,037 AL LMl v 4,167 SLV=FH 8,242t Al 3,937/luOTh 8,099 ;E#ATH 445|3R ™ 858
38 BT 38,703 &40t 35,748 | KiETH 66,506 ;E¥ATH 4,149 | B8R 8,236 fAET™h 3918|#ETh 7,965 f@8FH 440 {EfEH 849
39|F&HZT 38,669 K& 35,722| [ LUt 65,114/ X 41443 8,122 fB#&[R™H 3,891 | K& 7,950 I8 B 435 RFh 845
40 K& ™ 38,389 F&™ 35,453| & %0 64,948 {EE™ 4,135 ¥ UTH 8,050 #AITh 3,826 fHF T 7,783 BR¥ 406 | &R 829
A1 S5 38,242 RI&TH 35,341 |#¥ITh 64,586 [ &TH 4077 Kot 7,988 | [ LU 37711 |EUTh 7,705 | f2REH 376|t&8H ™ 804
42|k L 37,184/ dt i Th 33,877\ KHnH 64,165 KXFr 40401 E ™ 7,801 K& 3,728 KEh 7,641 B3 376 ;E&mH 793
43| fBH™H 36,946 IR LT 33,629 AL AT 63,367 | ¥ LU 4,024t A 7,628 B 3,693 FETH 7,616/ lLOT 357 LR 758
44| Knth 36,907 |f&@H ™ 33,607 )I1& 63,189 &LV=F T 4,013/ f8HFH 7,540| KPR 3,657 FRE;T™H 7528i&m™H 353 | REAR T 705
45 {2/t 36,769 LA 33235\ EERET™ 61,563 /18 3,981 |#1Fr LT 7440 F#HF™ 3,642 2™ 7,477 &5 304/ LA 636
46| LA™ 36,399 KHth 32,871|fEARTH 60,710 JI[I&TH 3,869 KRR 1213 ERE™ 3,636/f@ETH 7,362 X9t 269 &40 528
47 FFrH 35,798 f2[E™H 32,745/1luATH 60,621 F0Fr L 3,720 J1|I&tH 7,070 lLO 3,580 KRR 7,351 RERTH 258 K 506
48 FRE@TH 35,700 R FRTH 32,435|t2f@™H 60,437 & %0 3,701 | BfF™H 6,884 =& TH 3,576 | LUTH 1184 4EE™ 240{EE ™ 460
9 ERE™H 34,659 EERET™ 31,6055 &M 59,203 | [#] LT 3,618/ BEATH 6,755 f&RE™H 3,313/ )1l th 7,136 Ri&mH 228 & 454
50 [GETH 34,469|[L & 30,976|t8H ™ 56,744 B fFtH 3,327 & 50TH 6,581 {&&™ 3,167 |fB*E[R 7,026 =& 201 | EI&TH 390
51 REARTH 32,172 geARTH 28976 |{EE ™ 56,602 ARERTH 3,321 | LU 6,388 [LB&TH 3,033 F&HF™ 6,345 EIRETH 155 BIRE™ 291
521fkE™ 3201445 & 28,270 | BRERTH 53,779 REATH 3191 F & 4,788 FEARTH 2,718/ [T 6,005 #ALTH 124/ ¥ UTH 245
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WESES 2,270 £ [F 4,418 2 F 1,784 £ E 2,681 2H 3,157 2F 2,036 &2F 1,023 £H 2,187 & EF 1,110
1 #3umh 5,891 #x Ll 14,022 BELtH 7,230| BT 9,858 R fFH 7,206| R fF 4,533/l B h 2,126 Ik B 1h 5102|t2 & 7,386
2B 5™ 4,572 S50tH 9,068 FET 4044 FEETH 6,180 | [ LT 5,026 REFTh 3,143 FET 1474 =Bt 3,638 [ LLH 3,521
3| =FH 3,597 E&TH 7,853|E LU 3,897 FETH 6,069 KEFh 4,980 fHIEET 2993 =R 1,473 BELH 3587 RE¥Fh 2,653
4\ FEH 3,097 Kpth 7517 #0IH 3,428 EUtH 5,730\ &R 4,084 [ LLTH 2,966 #LIE 1,397 |8/ ™H 3,145 BBfFTH 2,575
5/ fEE™ 3,006 REATH 7471 |lLUfsTH 3414 IlUfisTh 5,102|lLUfizTh 4070 LLfizTH 2,905 | FR&RTH 1,394 I F TH 2,936 | FnF LT 2,413
6| K 3,000 S¥Th 6,776 FHR = 3,297 Hit&™ 4,473 ST 3,813 &[T 2,792\ )1&tH 1,338 #L 1R H 2898 ERH 1,476
7 REARTH 2,975 &R 6,623 | Frim 2,828 Fhiath 4,225 tHIERET 3,633 #AUTH 2,462 | fA¥E[R T 1,256 S #ath 2,888 L& 1,467
8 | BX[Eh 2851 =R 5910/ {28 2,647 & 4,109 R AR X &R 3575 &Rt 2,459 | $&[E 1,242 FEH 2,868 Fiath 1,384
9 R ARX &R 2,839 FEH 5,707/ lLATH 2,586 #iTTH 4,106 fEETH 3,539 fEETH 2,421 dL Fuinl 1,219 KPR th 2,865 Lz TH 1,373
10=BH 2,783 &R H 5,703 RiItE ™ 2,585 1LAT™H 4102/ )1|I&H 3,539 K&h 2,362 EERTH 1,214/3RtHh 2,847 E&fETH 1,373
M{LEs 2,752 F0Fr L 5,652|;&H 2,544 JKETH 4,094 lLOTH 3539 [L&TH 2,351 | IR R X &R 1,212 F030Uth 2,736 &HATH 1,365
12| R¥Fh 2,699 L& 5617 & %0t 2,515 550 4078 Knth 3471 ERT™ 2,265| Kirh 1,193| K;#EMH 2,721 | HEER[RT 1,320
13| F#E™ 2,656 fEETH 5349 &t 2,380 ;&M 3,794;FmH 3,427 1lLAt 2229 T 1,183| &R 2,702 R ARX &R 1,241
14|15 2,619 &R 5,323/ )KF 2,287 t8E&H 3,576 | FRARTH 3,398 P 2,186| RI&T™H 1,169 AL AL v 2,686 | FRARTH 1,184
15| & 2,558 AT 5,165 &R 2,285 #ETH 3,473/ ¥ALTh 3,378 EHh 2,185|E'RE™ 1,168 #iIth 2,644 KB 1,174
16| lLfizTh 2,557 Hit&™H 5,116 )11I&TH 2,112 &R 3,284 ;E¥ATH 3,350 | ALIRTH 2,176 3R 1,157 #HEE T 2554 FEH 1,172
17 BRE™ 2,523 KEMHh 5,043 Knth 1,994 1| I 3,108/ ¥\;TTh 3,344 FhHETH 2,163/ ¥\ Ih 1,150;#H 2,522 # AT 1,144
18| Ki#EMH 2523 ERE™ 4,918 FATH 1,981 ;E#ATH 3,026 FEH 3,331 HitE™H 2,157;FmH 1,127/ 8&F% ™ 2,518/ JIIGTH 1,119
19 )kKFEtH 2512|FH =T 4869 =LV =FH 1,926 KHtH 2,989 SLV=FE T 3,288 )15 TH 2,120/{iETH 1,120/ #AUTH 2,487 3R 1,094
20|1&ETH 2,490 £ 4776 {E&E™ 1,873 8™ 2,929|3R 3,288 t&E™H 2,112/ F 03U 1,096 )11 H 2,360 ELV=F 1,069
21 gitE™ 2,462 )1|I&TH 4766 {23 H 1,866 | B IR &R X &R 2,916 KR 3,284 BHTHET 2,101 KEH 1,079 R tH 2,333 &R 1,031
22 #kET 2,457 BBRFTH 4,635 ;EHATH 1,865|t8F 2,836 T 3,284 dt Al Th 2,083 FkEHTH 1,040 R fFthH 2,305 F#ETH 956
23 AT 2,443 I ETH 4,597 R EX &R 1,857 |#B#R /R H 2,687 =B 3,255 K 2,068 | 1K 1,027 | IR &R X &R 2,303 #&EETH 935
24 SNV =FTH 2,397 | ALIRTH 4470 S¥ATH 1,851 |&LV=FH 2,684\ KT 3,222 HHRTH 2,050 | B&[E T 1,020\ K4 2,285 HItB™H 905
25 BRI 2,379 #FhiEtH 4,463 fEETH 1,809 | ¥ Emh 2,664 B HET 3,209 3R 2,049 B HET™ 1,019 ERE™T™ 2,203/ fuiml 892
26 | FRERTH 2,369 SLVf-Fh 4,387 f&M™H 1,795 At Al 2,586 E LU 3,128| Ik BBy 2,046 ¥ALUT 1,001 | UfEsTH 2,184|IKETH 878
27\ #iEmh 2,313 R AR X &R 4,376 f&ETH 1,792 & 2,523 |l B 3,126 R ANX &R 2,021 Z#¥H 966 | B[ th 2,169 B HET 877
28| fLiRH 2,311 | fB#R[E T 4,350 fHIEE T 1,699 {5 & 2,514 4B 3,107 EUth 2018/ F#EMH 955 B H BT 2,156 [LB&Th 862
29 ¥ 2,300|lLfzTh 4310/ db AL Nh 1,568| = & tH 2404\ [ ETH 3,086 )KF T 1,986 &R 949 & 2,143/ &M 856
30 Euh 2,198t Al 4,266 =I5 1,553 &#ath 2,230 |#&ETh 3,030 1,968 J)KETH 944 t&ETH 2,107 | BERE ™ 849
31|1RH 2,164|1RH 4263 2 THET™ 1,540/ BEATH 2,222| EERTH 2,968 ¥ TTH 1,963 B F;Hh 934 [LETH 2,059 AT 832
2B 2,146 KR 4,169 KR 1,529 3Rth 2,170 L il 2,928 FEH 1,961 | & 930 /KFTh 2010/ FLUH 826
33| KBrh 2,138 ¥ TTh 4,142 3Rt 1,465 RIG™H 2,144 | BERE™H 2,922 SLV=FT 1,951 BfFh 855 &LVi=Fh 1,892 RI&TH 816
34 &R 2,118 #ET™ 4101 E=RB™H 1,417 KR 2,116 & 2916 SATH 1,948| Lz tH 835 Fk AT 1,870 Ki#EmH 774
35 fRIEET 2,102 RI&tH 4,021 RiGTH 1,405 | B[ h 2,078 #HTH 2,892 KETMH 1,942| SV =FH 835 E & 1,805|fEE™ 749
36 AErTH 2,100 J)KETH 4,020 KiEMH 1,397 #alumh 1,998 KiEmH 2,875 ;E¥ATH 1,886 [L&TH 831 &= %0h 1,774 711
37luath 2,001 lLOTH 3,935 &R TH 1,379 =B 1,996| 8% h 2,815 B & 1,876| 8% 818| &R 1,741 ;R TH 709
38|#AITH 1,991 [ E&™H 3.914 #uth 1,372 B EEHh 1,929 #FiBtH 2,799 EHFH 1,864| X5t 806 FHN = TH 1,703/ )KFth 705
39 BHH 1,976 {28 B 3,807 LUt 1,266 &L TH 1,917 {lEH 2,791 bETH 1,852 FEFH™H 801 ;E#ATH 1,657 | #L1RH 704
40 f8FHH 1,929 FRERTH 3,738 |REARTH 1,266 | FR&RTH 1,906 25 2,706 RI&TH 1,845 fEE™H 749 |fEET™H 1,618/lLOTh 690
A [LEET 1,892|€;Rth 3,670 P TH 1,235| I B th 1,862 t8HFH 2,680 ##ETh 1,806 {8 & 739 | %™ 1,597 &%0th 681
42 | F03xLH 1,880 f@FHH 3,658 I B h 1,175/ K:ZEH 1,843 S 40TH 2,648 gt 1,795 & &0tH J19EE™ 1,558 #x LUt 665
43/ e th 1,871 &F&HF™ 3655\ FE'RET™ 1,161 EIRE™T 1,815 F&BE™H 2,634 2™ 1,784/{EE ™ 713\ ¥am™ 1,467 57 ™ 659
M B2HEET 1,818 B ET 3,506 | FNFR LT 1,096 f#FTH 1,717 |f&f ™ 2,575 550 1,783 ;E#¥ATH 687 REATH 1,391 {8 582
45| [l 1,738 BELTH 3,416 |52 1,087 R¥FH 1,637 #0FR LT 2572 FHEETH 1,759 |8 HH 677 [ LT 1,371|%8FHH 564
46{EE™ 1,692| ELUtH 3,325 | & [ETh 1,073| %[ mh 1,616 RIG™H 2,429 FnFxRLH 1,689 | #ramh 671 E¥ 1,305| & Heth 547
47| B 1,655 t&f 3,302 K& o11|#nFr LT 1,598 | LR 1 2,378 B8R ™H 1,684 BEARTH 659 FRERTH 1,305 K Hth 538
48 BELTH 1,630 ;E#ath 3,255 R FTH 868 [LET™ 1,465 BIRE™ 2,297 EEARTH 1,653 | R LT 623 f2E™ 1,283 EIRE™ 472
49 |f&E T 1537 &t 3,250\ L&t 864 HFM 1,433/ BERTH 2,291 f&8HFh 1,558 E LU 597| ElUH 1,150 #3iTTh 467
50 R 1,497 | LTH 3,236 | BB 806 ERRFTH 1,358 &% 2,056 EERET™ 1,450 Bil#BTH 569 {23 1,139 El&TH 444
51 ;&M 14728 ™™ 3,042 | #LiRtH 683 AL TH 1,060{£E ™ 191348 ™ 1,334/ lLAH 556|LLOTH 1,067 BEARTH 427
52 ;E#ATH 1,223 /I B 1 2,852 5 & 680 AR ER T 881 A& 1,674/ 3R Z;/tHh 1,142 R¥h 521 HiItE™H 1,065 AR ERTH 269
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———————— HE: - | E - | HE: g | FE B <M E: g | FE - | WE: @ < FE - | ——<HE: o>
WESES 1,091 £H 1,444 £ H 3,048 2[F 982 £ F 1,404 £ F 3,501 2H 2,178 2F 5472 £FH 19,186
1f@88mM 12,173 BEH 2,449 EERTH 6,079 JKETH 3.612|FkET 3,449 HiItBTH 5127 F &= 3,382 &R 6,328 3R H 23,662
2| R¥h 3,713 Fiath 2,326 | Frim 5,548 FKETH 2,174 fLIETH 3431 FH=TH 4,855 SLV=F T 3,142 1A 6,205 ;& 22215
3 FfF™H 3,695 A E BT 1,961 =1Lt 4243 #LiRtH 2,165 F&HFH 3212 &LV=Fh 4,850 | B¥[E T 2,925;FMH 6,030\ T 22,212
4\[@LtH 3,293 # AT 1,912|fEARTH 4237 ;E¥ATH 1,558/ KETH 3,129 F#RE™H 4,701 |HiI¥ETH 2,892 HETH 5,998 &R 22,142
5kt 2,788 HEATH 1,898 ZHET 3,936 FEM™ 1,553 FEH 2,945 #riET™H 4524 =R 2,745\ K;EH 5,994 FFx 21,635
6| R 1,928 = LUt 1,822 )1l H 38771 &FEH/T 1,395;Fm 2433 FEH 4,508 | H&ETH 2,743 #EATH 5,966 KPR 21,256
7\ W™ 1,875| =&k h 1,822 &Rt 3,815/ V=Fh 1,327\ & 50th 2063 =R 4,372\ 378 2,719 2 HE™ 5,960 AR [R T 21,154
8| #himah 1,749 &iRth 1,815k 3,801 | R H 1,311 |88KTH 2016 fEET™ 4,369 FEH 2,714 Ri&T™H 5,956| K& 20,792
IuET™ 1,640| R IR AR X &B 1,803 KBrh 3,789 REATH 1,216 | #HE R TH 1,988 |1 Emh 4,312 HHERE T 2,660 BERH 5956 =B 20,728
10 =B 1579 FEh 1,789 | B IR #f X &R 3,788 #AiTth 1,196| B¢ @ th 1,803 ;& 4208/ K ETH 2,623 tRIR[R T 5888 = #ATh 20,680
11| fB#E[RH 1,384/ l& 1,731 ER™ 3,749 El&TH 1,182|#¥ATh 1,747 | R AR X &R 4,187 R AR X &R 2,599 FEH 5,794| BB 20,670
12| R AR X AR 1,264| B 1,712/ AL LN 3,725 E&0tH 1,112\ #iath 1,745 HHFEET 4102 2,555 [ LUTH 5,793 | LU 20,650
13 #@A™H 1,237 )11 H 1,706 fEE ™ 3,718 | B 1,106| SLV=FE 1,722/ )kEtH 4,039 &¥ATH 2510 &R 5,787 #igam 20,640
1438 1,234 #LiRH 1,638 | #0Fx LT 37 ALET 1,061/ fEE™H 1,679/ )1l 3,936 )1 2,504 S¥ATH 5,781 IR BT 20,587
15| & 1,227 ILfz 1,595 & 3,627 R AR &R 1,035/ ll&™H 1,621 3R #&RTH 3,837 ;EHTH 2,476 BERE™H 5749 FZEh 20,312
16| R 1,125 K8t 1,594 | #XEATH 3,616 Fiamh 968|EEIRET™ 1,479 ILFzTH 3816|fEET™ 2472 Fiath 5,747 RiltE 20,303
17| FEH 1,099 =Bt 1,589 FEH 3,600 LUz TH 954| LRz 1,455 &#amh 3,755 lETH 2,460 KBrh 5,722 ;EWTH 20,221
18|15 H 1,095/ 7K th 1,583 | B[ H 3,578;&mH 949 ;E#ATH 1,455 3R 3,706 | SR &R 2.446|I% BB 5721 RI&™™ 20,178
19| KB 1,072 EWN=FTH 1,511 | RIGH 3,460 & ETh 934| E & 1,444 | BEE H 3,699 | X [ETh 2433 ELUH 5688 HHEM™ 20,029
20 Eluth 1,058 | tB#E /R 1,496 ¥ 3,383 | E# [l th 916| BRI AN X BB 1,428 W& 3,657 Lz h 2431 | F& =T 5,631 | FkET 19,938
21|&LV=F T 1,049 KPR 1,489 | KiETHH 3,353/ 861|1Rth 1417|825 ETH 3,654 & &I 2415|[L BT 5628 EEIRE™ 19,656
22 FHETH 1,030 | #0 &k L TH 1,462\ SLV=FETH 3222 EIRETH 853| &R 1,373| & %0th 3,583 | t&[E 2,389/ lLAT 5,628 LB 19,593
23| T 995 At LM T 1,436 LUz TH 3,184 |JII&tH 841 | EWH 1,320 ;E#ATH 3571 |luAT™ 2293 EEIRE™ 5,628 &F f& 19,563
24 | BE[E™H 987 K& 1,435 #L 1R H 3,173 EWH 834 |##ETH 1,310 KB H 3,567 3R 2,291 FoFrU 5,610 F%[E ™ 19,513
25| Ri&™H 967 &% H 1,427 | FE&R T 3,146 =L 834 B ET 1,306 &[T 3,533 KI&™H 2,220 L1 5,588 FERE 19,475
26 1EETH 954 | KiEmH 1,420 EIRE™ 3119 B HET 804 |F%[E™H 1,160 | I B 1H 3521 R¥h 2,220 Hit&™H 5,566 | B[ 19,459
27 I B 817/ lLAt 1,419 I B 3,119 f8HTH 777/ BifE™H 1,159|f8 & 3,500\ #F T 2,197 #¥ITh 5,566 | #;I 19,402
28 dL A 814 E%0th 1,417 HHEE T 3,063 fEET™ 762 &R 1,150 B fFTh 3,441 KBt 2,197 E¥ATH 5,530 = LU 19,231
29 | #LiE 812 | #ETh 1,393 | #alumh 3,028 KBRtH 758 ELUTH 1,137|#FH 3431|285 2,175 &Rt 5527 {k&E™H 19,138
30 KFETH 812 fEE™ 1,391 |4 F™H 3,023 &R 758 dL Auinl T 1,128/ f#ATH 3,369 | FkHETH 2,162 F&H™ 5,421 | ¥ LT 19,053
3| EE™ 807 =#ATh 1,387|lLOH 2,939 FHETH 740 f@8FH 1,118 Rt 3,310| I B 2,140 E [t 5419 LA 18,820
32 ¥ uTh 801 {23 h 1,382 | 8¢ H 2,895 HARTH 736 )1 I& T 1,112/ lu@vh 3,305 ZHE™ 2,115 #uth 5419| #L1% 18,718
33 &R 788 | #¥iI T 1,380 B fFh 2,892 R 734 =Bt 1,064/ £;Rth 3,291 B fFTH 2,059 {E&H 5,349 SLV-FTH 18,700
M BHET 756 | ARERTH 1,372 |4 ETH 2892\ lLOm 728 1lLOTH 1,038 K:EM™H 3,196 H&HF™ 2,030 AL AL Th 5320 fEE™ 18,613
35 HiItE™ N1 ERE™ 1,343 F&HF ™ 2,842 HitB™H 707 KB 1,014 RIG™H 3,114\ BIET™H 2019 fEET™H 5314 K 18,553
36 AT 704 |l B 1,333 |f&ff T 2,819 ¥ UTH 697 BB 1,011 |08k ILTH 3083 EEREM™ 1,956 = l&TH 5,255 &R 18,525
37 EMTH 700/ 3RtH 1,311 |8 H 2816 K&t 692 | F0Fx U™ 985 = LU 3,062| K;ET™ 1,949 FRERTH 5,238 dt AL I 18,292
38| &A™ 698 FHRE 1,284 ¥AITH 2,805 L L 690 FH = T 977| BT 3,054 [ L TH 1,933 f@8FH 5,222 | B 18,229
39 BHH 655| & &t 1,280 ;&M 2,728 R¥rh 687| K:EH 944 EERE™ 3,009|[EETH 1,887 Il vH 5,198 JKF 17,752
40| KiET™ 652 | RIIAE™ 1,262 E¥aThH 2,663 FOFr L™ 683 [ LU 935 #¥iT 3,001 | #ALTh 1,868 | &L f=FTH 5,141 Lz 17,506
41;EH 631 ;EHTH 1,262| K 2,659 ZRTH 662 | #3LUTH 932| FE#HZ™ 2,994 | &Rt 1,860 f@ & 5,130 1| & 17,459
2 LEET 6315 BT 1,258| = 5 H 2,541 A TH 644 R 880 [ ILLUh 2,951 = LU 1,840l & TH 5,043 L& 17,372
43| BELH 609 | fHF T 1,255| F &= H 2,361 [LET 641| Ko 853|[L & 2,901 | K»h 1,831 B ¥ 5,002 f@FHmH 17,331
44| f8H™ 539 ¥l 1,249 2,337 K;#th 631 |l B h 830/ K4th 2871 |{kE™ 1,830 ILFsTH 4967 =40tH 17,268
a5 {EEBH 501 @[ 1,237 | &40 2,299 HFFTH 618/ ™ 801 {2 2,807 |BEATH 1,759 R AR X &B 4962 #ETh 17,203
46lLOTH 495 B RFTH 1,204 #RExTH 2,245 [ELUTH 595 | Ri&H 788 ¥A LU 2,772 |8 ITh 1,728 K¥ 4,922 R A X EB 17,188
47| WiTTh A3 FEHM 1,191 | S#mh 2170 4E&BH 557 & 717 #L1E 2,735 #Fr1LTH 1,725 &40t 4,848 f&RE™H 16,849
48| Kpth 472 EEB™H 1,185|f8HFH 2,071 I ETH 544 |f2[E™H 7104/ E™ 2,691 B 1,620 )KFEtH 4,845 t2E™H 16,757
9 ERET 471 [E Ut 1,077|[LE&™H 1,994 S#ath 536| &tATH 621|db il 2,595 &8 F 1,616 #EmH 4,756 REATH 16,700
50 REATH M3;EH 1,020| & LU 1,937|%8E™H 514/t ETh 605 BEAT 2,540 4t fuinl T 1,580 | &/ TH 4,744 Ko tH 16,588
51 B 378/ KHnm 952 |FiE™ 1,766 &[T 463|[LET™H 543 BT 2,462 | fLIETH 1,402 BEARTH 4,664 = I5TH 16,563
52| AREATH 318/teE™ 914/ ETh 1,628 ARERTH 428 | FREATH 351 FRERH 2,005 BRERTH 1,144 K5t 4,656 FRERTH 16,362




R
FOA47)IL—Y FoOA4T)IL—Y thEY
—————————— <& BBD- |——<HE: - | <& %>
WESES 2,103 2[F 2,333 2F 4,760
11T 3,246 FEH 3,502|lLufizTh 11,723
2| FEH 3,219 JIlIGTH 3,400 BB TH 8,150
3 fREIRE T 2,855 A TH 3,314 R AR X &R 6,572
4 &WN=FEH 2,815 fHHE R 3,244 ¥EETH 6,381
5 &R 2,753 #&ETH 3,060 ZHEM 6,159
6 AT 2,734 AR 3,034 R 6,071
7\#8ETH 2651 2 HETH 2,991 | EiEFH 6,067
8B ET 2,601 ELV=FH 2911 FEH 5,834
9 R ARX &R 2,520 Friath 2,854 FRETH 5,676
10/ f@H ™ 2384 =R 2,756 & 5,411
1|\ F&H=EH 2377|F&H = 2,709 ELv=FTh 5,383
128Ut 2,352 I B th 2,654 KPR 5,329
13| &R T 2,348 ;E¥ATH 2,648 T 5,156
14/ #FEH 2,347 R AR X &R 2,631 fAHR[R T 5,100
15 &=BH 2,339 | ALIRTH 2,616 3 4,957
16|KE™H 2259 {iETH 2,601 {28 4,758
17L&E™™ 2,254 ;&M 2544 ZRBTH 4,690
18| ETH 2,245 Hitg™H 2,538 | ALIRTH 4675
19|€RtHh 2,237 &Rt 2,521 )11I&tH 4,662
20 | #L1E 2,216 ¥ Th 2511 BitE™H 4,661
21 ;& 2212/ f8FH 2,501 ;EfATH 4593
22| ;& 2,190 EUtH 2,486 FE =T 4,579
23| mtE™ 2,177/ db il 2,486 ELUTH 4557
24 #ATH 2,171 & 2,477 AL il T 4,556
25 BHM 2,170 KPR 2,458 | RARTH 4547
26| #¥iIth 2,148| X [@th 2,444 |8 4541
27 (AL A 2,110 RI&H 2,420 | & [ETH 4505
28| KBfrth 2078|7)KF 2.418|I BBy 4,460
29 R 2063 B#&HF™ 2,309| &R 4,416
30| K:#EMH 2,012 @A 2,251 | BB fFH 4,409
31|1RH 2007 ERE™ 2,180/ K;Eh 4,308
R2ERET 1,910 K:ZEtH 2,167/ ET™H 4,301
33 AR 1,888 fEE ™ 2,085 ¥ 4271
34|12 ™H 1,783 | &% 2,062 |E%[E™H 4110
35| EET 1,780 & 40th 1,993 #a it 3,922
36 S EnH 1,772 BB 1,909 #Frigam™ 3,808
37| &5 1,742 #0Fx L TH 1,877 & 3,787
38| Knth 1,681 BEARTH 1,851 | f@F ™ 3,778
9| LET 1,636| [ LLTH 1,850| & LU TH 3,768
40| lLfizTh 1,632|[EE&™ 1,844 ;%™ 3,709
41| 1,593|f8 8™ 1,829 &#ath 3,617
42| {@B™ 1,589 RErmh 1,826/ K ETH 3,498
43| B fF™H 1,560 R fFth 1,803| & %0th 3,393
44 REARTH 1,559 f&f 1,789 K4 mh 3,360
45 R¥ 1,557| Kot 1,753 |Re K 3,255
46 | F0FR LT 1,524 #2th 1,701 EIRE™ 3,153
A74EET 1,507{£&H 1,700 #3iTTh 3,112
48 St 1,501 | Lz vh 1,675 F0FRLTH 3,077
49 B8R 1,432 & ¥ath 1,644 EHF™H 2,997
50| B & Th 1,421 5 & tH 1,619 EETH 2,961
51 #Uth 1,386/ lLOTH 1,618/ lLATH 2,819
52[lLATT 1,378 ARERTH 1,467 8™ 2,666
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